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gpupT 1 
 
tpil  01 
 
1.1. 

 
1.2. 

 
1.3. 

 
1.4. 

 
1.5. 

 
 
 

fw;wy; tpisT:  1.1.2. 

vy;yhf;$w;Wf;fSk; rupahdit. 

tpil (D)  
 

fw;wy; tpisT : 2.1.1. 
vy;yhk; cs;slq;fyhf 
tpw;gid tpiy = 

        
72,150.00  

Njwpa tpiy (72,150/1.11) =  
        
65,000.00  

xU njhiyf;fhl;rpf;fhd 
tpiy (65,000*25%) =  

        
16,250.00  

vdNt tpil (A)  
 

 

fw;wy; tpisT : 1.2.2. 
(i) ck; (iv) ck; EOQ khjpupf;fhd vLNfhs;fshFk;. 
tpil  (B)   

 

fw;wy; tpisT : 2.2.1. 
,yhgel;lkw;w Gs;sp  = 1000/10 = 100 
myFfs;   
mynfhd;Wf;fhd xg;ge;jj;jpw;fhd tPr;R: 1000/110 = 9.09 
,ypUe;J 1000/90 = 11.11  

Mff;$ba jtW 1.11/10 = 11.11%   

tpil  (C)   
 

 

fw;wy; tpisT : 2.6.1. 
,uz;L $w;Wf;fSk; rupahdgbahy;,  
rupahd tpil D. 
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1.6. 

 
1.7. 

 
1.8. 

 
1.9. 

 
1.10. 

 
(nkhj;jk; 20 Gs;spfs;) 

fw;wy; tpisT : 4.1.1. 
tpisT tl;b tPjk; Effective interest rate = (1+r)n - 1  
(i) = (1+0.3)2 - 1 =  6.09% 
(ii) = (1+0.3)4 - 1 =  6.14% 
(ii) tUlhe;jk; 6.09% 
   
vdNt> rupahd tpil “B”. 
 
 

fw;wy; tpisT : 4.2.1.  
tUlk; 9,y; vjpufhyg;ngWkjp  (tUlk; 10 ,d; Muk;gj;jpy;) &gh 50,000 Muk;gj;jpd; 

= 50,000 x 1.05^9 =  
&gh 10,000 nfhLg;gdTf;fhd Mz;Lr;re;jhTk; = 77,566/10,000 = 7.757  
Mz;Lr;re;jhf;fhuzp ml;ltizapypUe;J 5%,y; 10 tUlq;fspw;fhd ,jd; 

ngWkjp mz;zsthf> my;yJ 
10 tUl Kbtpy; vjpu;fhyg;ngWkjp = 50,000 x (1.05)10 = 81,444.3 cld; &gh 10>000 
,w;fhd re;jhf;fhuzpf;Fkhd nfhLg;gdT 81,444.3/10,000 = 8.14 re;jhf;fhuzp 
ml;ltizapypUe;J 5% ,y; ,g;ngWkjp mz;zsthf 10 tUlq;fspw;fhdJ.   
 
vdNt rupahd tpil “C”. 

fw;wy; tpisT :  6.2. 
,yhg cr;rg;gLj;jy; Gs;spapy;      
,yhgj;njhopw;ghl;bd; rupT g+r;rpak;; (i) rupahdJ   
,yhgj;njhopw;ghl;bd; ,uz;lhtJ derivative vjpu;f;fzpakhdJ; (iii) rupahdJ. 
MR = MC ck; MR - MC = 0  vdNt; (ii)  rupahdJ  
fpuaj;njhopw;ghl;bd; ,uz;lhtJ derivative nghUj;jkw;wJ (iv) gpioahdJ. 
 
vdNt tpil “D”. 

fw;wy; tpisT :  6.1.1. 
rupahd tpil “B”. 
 

fw;wy; tpisT : 7.1.1. 
ehd;F midj;Jk; rupahdjhjyhy;> rupahd tpil “D”.  
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tpil 02 

2.1. 

 
2.2. 

 
2.3. 

 

fw;wy; tpisT : 1.3.1. 

khjhe;j rk;gsk;        40,000 
 

EPF ,w;Fk; ETF ,w;Fk; njhopy;nfhs;Nthdpd; gq;fspg;G        6,000   

kjpaNghrd fpuak; (20 ehl;fs;)       2,000   

khjhe;j nkhj;jf;fpuak;      48,000 
 

khjhe;jk; Ntiynra;Ak; kzpj;jpahyq;fspd; 
vz;zpf;if  (20 x 10)          200   
kzpj;jpahynkhd;wpw;fhd 
fpuak;  (&gh)             240   

       
Ntiyf;F jhf;fy; nra;ag;gl;l fpuak;  (240 x 
28) (&gh ).       6,720   

 
 

fw;wy; tpisT : 1.2.2. 
EOQ = (2 x 360,000 x 2,000 / 40) ,d; tu;f;f%yk; = 
6,000 units  

      
tUlhe;j nkhj;j fl;lisf;fpuak; = 2,000 x 360,000/6,000 = &gh 
120,000 

 
 

fw;wy; tpisT : 2.3.1. 
(i) njhopw;rhiy Ntiyahl;fSf;fhd khww;Fzfk;  = 3,500/28,000 = 12.5% 
   
 Nkw;ghu;it cj;jpNahfj;jUf;fhd khww;Fzfk;   = 4,500/75,000 = 6% 
   
          
(ii)    (a) xU KOikahd mbg;gilapy;> Nkw;ghu;it cj;jpNahfj;jupd; Ntjdk; (s = 

4.500)  njhopw;rhiy cj;jpNahfj;jupd; Ntjdj;jpYk; (s = 3,500) 
       ghu;f;f NkYk; NtWghLilaJ.   
  

(b)Nkw;ghu;it cj;jpNahfj;jupd; Cjpaj;ij tpl (6%)  njhopyhsu; Cjpak; 
(12.5%) ,ila khww;Fzf njhlu;gpd; mbg;gilapy; cau;thdJ.  ,J 
njhopw;rhiy Copau; Cjpaj;jpw;fhd mjpf njhlu;G NtWghl;ilr;  
Rl;bf;fhl;LfpwJ.  
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2.4. 

 
2.5. 

 
2.6. 

 
 

fw;wy; tpisT:  2.4.2. 

nghUs; gOjiltjw;fhd epfo;jfT P(D) = P(MXD) +P(MYD)  

    = (70%*3%) + (30%*5%)  

   
 = 3.6%  
   

 

 
,J ,ae;jpuk; X ,ypUe;jhapd;> X = P(MX|D)  
                 = (70%*3%)/(3.6%) 
                = 58.33%   

 
 

fw;wy; tpisT:  4.1.1. 

KjyPl;Lj;njupT  B       
&gh 100>000 itg;gpyplg;gLfpd;wnjdpy;> mjpypUe;J ngwg;gLk; 
tl;b     

100,000 x 8% x 5 = 40,000      
,jd; fUj;J ahnjdpy;> &gh 60>000 KjyPL xd;iw Nkw;nfhs;Sk;NghJ 5 tUlq;fspd; 
gpd;du; ePu; &gh 100>000 it ngWtPu;.   

KjyPl;Lj;njupT  A        
&gh 60,000 I xU epiyahd itg;gpy; Kjypbd; ePu; 5 tUlq;fspd; gpd;du;: 60,000 + 
60,000 x 10% x 5 = &gh 90,000  

         

Ie;J tUlq;fspd; Kbtpy; ePu; njupT B I rpwe;j KjyPlhf njupT nra;tPu;.    

         

 
 
 

fw;wy; tpisT: 3.1.1. 

 kpf rupahd cw;gj;jp tpiyaplYf;Fk; cz;ikahd cw;gj;jpf;fpuaj;ij 
kPsg;ngWtjw;Fk; mjhtJ tpiyaplYf;Fk; cjTfpwJ.  
cs;slf;ff;fpuakply; Fiwthd tpiyapliyj;jtpu;f;fpwJ.   
 

 ,Ug;G kjpg;gPLfspy; mwpf;ifaplYldhd Njitg;ghLfspy; epiyahd 
jd;ik. 

 
 Fiwthd tpw;gid my;yJ tpw;gidapy;yhjtplj;J mwpf;ifaplg;gLfpd;w 

fw;gidahd el;lq;fisj;jtpu;f;fpwJ.  
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2.7. 

 
 
2.8. 

 
 
 
 
 
 
 

fw;wy; tpisT: 5.1.2. 
 
 epakf;fpuakplyhdJ mjpfkhd Copaj;ijr;rhu;e;jJ.  Mdhy; etPd 

njhopDl;gq;fs; Fiwthd Copaj;ijr; rhu;e;jJ.   
 Gjpa njhopDl;gq;fs; fhuzkhf fpuaj;jpd; ngUk;gFjp tpfpjhrhuk; 

epiyahd fpuakhFk;. vdNt> epiyahd Nke;jiy KuzhdJ ,t; 
mjpfupg;igg; gpujpgypf;fpwjh vd;gJ IakhdJ. 

 kdpj nraw;ghL Nghyd;wp Gjpa njhopDl;gj;jpy; %yg;nghUs; ghtid 
Kuz; kpff; Fiwthd Kf;fpaj;JtKilaJ my;yJ Kf;fpaj;Jtkw;wJ.   

 epakf;fpuatpay; fpuaj;ij khj;jpuNk fUj;jpnyLf;fpwJ.  Mdhy; 
cw;gj;jpj;juk;> thbf;ifahsu; Nrit kw;Wk; #oy; jhf;fk; Nghd;w gpw 
fzpaf;fhuzpfisf; fUj;jpnyLg;gjpy;iy. 

 epakf;fpuatpaypypUe;jhd fl;Lg;ghl;Lf;$w;W khjhe;j my;yJ thuhe;j 
uPjpapy; jahupf;fg;gLfpd;wJ.  Mdhy;> etPd KfhikahsUf;F 
tpidj;jpwid mjpfupg;gjw;Fk;> Nghl;b tpiyfis vjpu;nfhs;tjw;Fk;  ,t; 
mwpf;iffs; mbf;fb Njitg;gLfpd;wd.   
 
 

 
  

 

fw;wy; tpisT: 4.2.3. 
vjpu;fhyf;fhNrhl;lj;jpDila ,w;iwg;ngWkjp = 29,833 x  5 tUlq;fSf;F 

fopTnra;ag;gl;l fhuzp @12% ,y; = 29,833 x 3.605 =    107,548 

Njwpa ,w;iwg;ngWkjp =107,548 - 100,000 = &gh 7,548  

cs;sf jpUk;gy; tPjj;jpy; vjpu;fhyf;fhNrhl;lj;jpd; ,w;iwg;ngWkjp = 100,000 

fhNrhl;lj;jpd; foptplw;fhuzp = 100,000/29,833 =3.352 

 

5 tUlq;fspw;fhd fhNrhl;lj;jpd; foptplw;fhuzp 
15% fopT tPjj;jpy;    
vdNt> cs;sf jpUk;gy; 
tPjk; = 15%       
vz;fis cs;sf jpUk;gy; tPj  tha;ghl;bw;F nfhz;LtUjy; 
NghJkhdjy;y.  khztu;fs; rupahd tpilia miltjw;F 
Ntz;lg;gLfpd;whu;fs;.  
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2.9. 

 
2.10 

 
 

                                                                                            (nkhj;jk; 30 Gs;spfs;) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

fw;wy; tpisT: 6.2.1. 

nkhj;j gq;fspg;G = 3X + Y    

Y = (42X - 2X
2
 - X

3
/3) vdpy;>    

nkhj;j gq;fspg;G = 3X + (42X - 2X
2
 - X

3
/3)  

nkhj;j gq;fspg;G (P) = 45X - 2X
2
 - X

3
/3  

d(P)/d(X) = 45 - 4X - X
2
 = 0    

X
2
 + 4X - 45 = 0      

(X+9) (X-5) = 0      

X = - 9 or X = + 5, X> 0 vdpy;, X 5 Mf ,Uf;fNtz;Lk;. 

,jpy; gjpypbd;> Y = (42X - 2X
2
 - X

3
/3)  

    Y = 118    
 

fw;wy; tpisT: 6.1.1. 

nkhj;j fpuaj; njhopw;gh = (X
3
/3- 8.5X

2
 +50X + 90)   

nkhj;j tUkhdj; njhopw;ghL  = 22 – p = 0.5X    

    p = 22- 0.5X   

    TR = 22X - 0.5X
2
   

,yhgj;njhopw;ghL = 22X - 0.5X
2
 - X

3
/3+ 8.5X

2 
-50X – 90 

,yhgj;njhopw;ghL = -X
3
/3+ 8X

2 
-28X – 90  - 
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tpil 03 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

fw;wy; tpisT: 1.4.1 /1.4.2 
 

          &gh   

(a) mr;Rg; gpNsw;]; kw;Wk; gltiuGfis tpUj;jp 
nra;tjw;fhd Muk;gf;fpuak;  

           245,000   

 mr;Rg;gpujp 
%yg;nghUs;fs;  

              750,000   

 Neu;f;$yp  ( kzpj;jpahyj;jpw;F 
&gh250/- )  

               25,000   

 Vida khWk;fpuak;                  10,000   

 epiyahd cw;gj;jp Nke;jiyfs; – (25,000/250)*100              10,000   

 epiyahd 
cw;gj;jpf;fpuak; 

           1,040,000   

 epiya epu;thf Nke;jiyfs; – cw;gj;jpf;fpuaj;jpy; 5%             52,000   

 nkhj;j vjpu;ghu;f;fg;gl;l 
fpuak;  

          1,092,000   

 Mff;Fiwthd ,yhg vy;iy– 
25%  

             273,000   

 Ntiyf;fhd nkhj;j 
tpw;gidg;ngWkjp  

          1,365,000   

 mr;rbf;fg;gl Ntz;ba 
Gj;jfq;fspd; vz;zpf;if  

                  2,200   

 Gj;jfnkhd;wpw;fhd 
myFtpiy  

                620.45   

           

 Gj;jfnkhd;wpw;F mspf;fg;gl;l tpiy &gh 500 khj;jpuNk.  vdNt> ,t; 
xg;ge;jj;ij Vw;Wf;nfhs;tjw;F rpghu;R nra;ag;gltpy;iy.   
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khwhf> 
       

 (361.36X+245,000+(361.36X+245000)*5%+[(361.36X+245000) +  

 
                                                       (361.36X+245000*5%]*25%) = 500X 

474.29X + 321,563 = 500X  ,w;Nfw;g> 
    vdNt ,Uf;f Ntz;ba gpujpfspd; 

vz;zpf;if  
   

= 12505 

 
 
 
 
 
 
 
 
 
 

(b) 
 

tpiyaply; nfhs;iff;Nfw;g nkhj;j ntspaPl;bd; mbg;gilapy; nkhj;jf;fpuak; 
NtWgLk;. (ntspaPL = 2,200 gpujpfs;) 

 
mr;rbj;jy; %yg;nghUs;fs;  

     
         750,000  

 

 

Neu;f;$yp  ( kzpj;jpahyj;jpw;F 
&gh250/- )  

    
           25,000  

 

 

Vida khWk;fpuak;  

     
           10,000  

 

 

epiyahd cw;gj;jp Nke;jiyfs; – 
(25,000/250)*100 

 
           10,000  

 

 
2,200 gpujpfSf;Fkhd nkhj;jk;  

     
         795,000  

 

 
Gj;jfnkhd;wpw;fhd fpuak;  (795,000/2200) 

   
           361.36  

 

           

 

epiyahd cw;gj;jp Nke;jiyfSk;> epiyahd epu;thf Nke;jiiyfSk; 
FWq;fhyj;jpy; epiyahditahf ,Ug;gpDk;> fk;gdpfspd; tpiyaply; 
nfhs;iff;Nfw;g khWk;fpuakhf nfhs;sg;gl Ntz;Lk; vd;gij jaTnra;J 
Fwpg;gpLf. 

 

  

 
Gj;jfnkhd;wpw;fhd tpiy (&gh) 

     
                500  

 

 
cw;gj;jpnra;ag;gl Ntz;ba gpujpfspd; vz;zpf;if 'X', vdf; nfhs;f.  vdNt>  

 

 

Vw;Wf;nfhs;sg;gl Ntz;ba fl;lisf;fhf cw;gj;jp nra;ag;gl Ntz;ba nkhj;j 
gpujpfs; gpujpnahd;W &gh 500 ,y.  

 

 
=(361.36X+245,000)*1.05*1.25 = 500X =  

     

 
= 474.29X + 321,563 = 500X 

    
= 12505 
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(c) Ntiyf;fhd nkhj;j khWk; fpuak;     

 mr;Rg;gpNsw;]; kw;Wk; gltiuGfis tpUj;jp 
nra;tjw;fhd Muk;gf;fpuak;  

        245,000    

 mr;rbj;jy; %yg;nghUs;fs;          750,000    

 Neu;f;$yp  (kzpj;jpahyj;jpw;F &gh. 250/- )            25,000    

 Vida khWk; fpuak;           10,000    

 nkhj;j khWk; fpuak;      
1,030,000  

  

 xt;nthd;Wk; &gh 500 tpiyapy; 2>200 Gj;jfq;fs;     1,100,000    

 Vida fl;lisapypUe;J Nkyjpf gq;fspg;G            70,000    

 JPP cjpup ,aysitf; nfhz;bUg;gpd; ,f;fl;lisia epWj;jf;$lhJ.  
Vnddpy;> ,J &gh 70>000 Nkyjpf ,aysit juf;$baJ.   

  

   

 
 
 
(d) 

 fhy msT – xU njhFjpia nra;J Kbg;gjw;fhd fhymsT xU 
xg;ge;jj;jpw;fhd fhymsit tpl kpff;FWfpaJ.  cjhuzkhf> Gj;jfj;ij 
mr;rbg;gjhdJ xU njhFjpf;fpuatpay; kw;Wk; xU fl;bl epu;khzkhdJ 
xg;ge;jf;fpuatpaypd; fPo; tUfpwJ.   

 
 ngWkjp – xg;ge;jf;fpuatpaypw;fhd ngWkjpahdJ njhFjpf;fpuatpaypd; 

ngWkjpia tpl mjpfkhdJ.  
 

 xg;ge;jf;fpuatpaypw;fhd tUkhdk; g+u;j;jpnra;ag;gl;l mstpdbg;gilapy; 
gFjpahf milahsk; fhzg;gLfpd;wJ.  vdpDk;> njhFjpf;fpuatpaypy; Ntiy 
g+u;j;jpahdjd; gpd;dNu tUkhdk; milahsk; fhzg;gLfpd;wJ.   

 
 
           
 
       

(nkhj;jk; 10 Gs;spfs;) 
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tpil 04 
 

 

         (a) khjhe;j ,yhg ,ilf;fhd kjpg;gplg;gl;l tPr;R   
   

 
SEM = σ/√n, since σ = 1,200 ck; n = 36 

    

 
SEM = 1,200/√36 = 200 

     

  
8,000 +/-1.96( 200)= 7,608 - 8,392 

  

 
vdNt> nkhj;j khjhe;j ,yhgj;jpd; kjpg;gplg;gl;l tPr;R  

  

  
10,000 x (7,608 - 8,392) = &gh. 76.08kpy;. - Rs. 83.92kpy;. 

 
 

 

 
 
 
 

      (b) 10,000 nkhj;j filfspd; tpw;gidapd; epaktpyfy;  
 

  
72,000 / √36 = 12,000 

    

 

10,000 nkhj;j filfspd; tpw;gidapd; Z kjpg;G 
75,000,y; 

  

  
(100,000 - 75,000)/ 12,000 = 2.0833 

   

 

nuapypypUe;J KbT tiuahd ,g;gug;gstpw;fhd kjpg;G = 50% - 
48.12% = 1.88% 

 

 

vdNt> %lg;glNtz;ba filfspd; vz;zpf;if = 10,000 x 
1.88% = 188 

 

          

 
 

75000 100000 
      

         

         

  
z=0 

      

   

 
 
 
 
 
 
 
 
 
 
 
 

    

 
 
 
 
 
 
 

fw;wy; tpisT: 6.1.1. 
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(c) 
10,000 nkhj;j filfspd; tpw;gidapd; Z kjpg;G 
130,000,y;  

  

  
(130,000 - 100,000)/12,000 =  2.5 

   

 

nuapypypUe;J KbT tiuahd ,g;gug;gstpw;fhd kjpg;G = 50% - 
49.38% = 0.62% 

 

 

vdNt> ,yr;rpidaplg;gl Ntz;ba filfspd; vz;zpf;if = 
10,000 x 0.62% = 62 

 

 

 vdNt> ,yr;rpidaplYf;fhd fpuak;  = 250,000 x 62 = 
Rs 15.5Mn  

  

 

 
 

 
 
 
 
 
 
 100000 130000 

     

  
z=0 

      
 

 

 
 
 

      
(d) 

filfspd; 1%  100 I cs;slf;Fk;. .  ,J 
NkYk; 38 MFk;.   

   

 
vdNt> Nkyjpf fpuak; 250,000 x 38 = &gh 9.5kpy;ypad;. 

  

         

 
khwhf, 

      

 

 (100 * 250,000) - 15.5 kpy;ypad; = 25 kpy;ypad; - 15.5 
kpy;ypad; = 9.5 kpy;ypad; 
 
 

   
 
 

(nkhj;jk; 10 Gs;spfs;) 
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tpil 05 
 

 

(a) 
Neu;%yg;nghUs; tpiyKuz; = (cz;ikahd nfhs;tdtpw;fhd epakf;fpuak; - 
cz;ikahd fpuak; ) 

    

= (W1 ,d; 80,000 fpNyhfpuhk; * &gh 300) - (80,000 
fpNyhfpuhk; * &gh 305) 

 

    
            (400,000) ghjfk; 

 

         

 

%yg;nghUs; ghtidKuz; = (epak ghtid – cz;ikahd ghtid)* 
mynfhd;wpw;fhd epaktpiy 

 

    

= (70,000 fpNyhfpuhk; - 75,000 
fpNyhfpuhk;) * &gh 300 

  

   
my;yJ = (5,000 fpNyhfpuhk;) * &gh 300 

   

    
         (1,500,000) ghjfk; 

  

         

 
(W1) nfhs;tdT nra;ag;gl;l njhifapd; fzpg;gPL  

    

 
Muk;g %yg;nghUs; 

   
           10,000  

 

 

+nfhs;tdT
fs; 

    
           80,000  

 

 
- ,Wjp kPjp 

   
         (15,000) 

 

 

gad;gLj;jg;gl;l %yg;nghUs;fs; (5,000 ifahsg;gl;lit*14 
fpNyhfpuhk; + 5000 fpNyhfpuhk;) 

 
           75,000  

 

 

$yp tPj Kuz; = (epak tPjk; - cz;ikahd tPjk;) 
cz;ikahd kzpj;jpahyq;fs; 

  

    
= (15,300kzpj;jpahyk;*&gh.150) -  &gh 2.4 kpy;ypad; 

 

    
            (105,000) ghjfk; 

   

    

 
 
 
 

    

 

$ypj;jpwd; Kuz;  = (epak kzpj;jpahyq;fs; - cz;ikahd 
kzpj;jpahyq;fs;) epak tPjk;  

  

    

= ((3 kzpj;jpahyq;fs; *5000) - 
15,300)*150 

  

    
              (45,000) ghjfk; 

   
 
 
 

  
 
 
  

fw;wy; tpisT: 6.1.1. 
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(b) ■ %yg;nghUs; el;l mjpfupg;gpw;F juf;Fiwthd nghUs;fspd; 
cgNahfk; fhuzkhf mika KbAk;.  

 

 

■ jpwd; Copau;fSf;Fg; gjpyhf jpwdw;w Copau;fspd; 
gad;ghL.  

  

 

■ 
cw;gj;jpr; nra;Kiwfs; kw;Wk; ,ae;jpuf;NfhshWfSk; cw;gj;jp el;lq;fSf;F 
fhuzkhf mika KbAk;.  

 
 

 

■ gpioahd epakq;fSk; $l cz;ikf;Fk; epakq;fSf;Fk; ,ilNaahd 
NtWghl;ilf; fhl;l KbAk;.   

 

■ Copa Nkw;ghu;itf; FiwTk; cw;gj;jpj;jpwd; FiwT kw;Wk; Nrjhuq;fspy; 
mjpfupg;ig Vw;gLj;Jk;. 
 
 

 

(c)  
 

■ fhy uPjpahd ,ae;jpu gupNrhjid kw;Wk; rpwe;j Ntiy epiyikapyhd ,ae;jpu 
cWjpg;ghL vd;gd. 

 

■ %yg;nghUs; juf;fl;Lg;ghL kw;Wk; %yg;nghUspd; rpwe;j ju 
cWjpg;ghL vd;gd. 

 

 

■ Copaupd; gapw;rp mtu;fspd; tpidj;jpwid 
mjpfupf;Fk;.  

  

 

■ 
rpwe;j Ntiyepiyik kw;Wk; Copau; Cf;Ftpg;Gf;fhuzpfs;.  

 

 

■ 
rpwe;j Copa Nkw;ghu;it.  

    

  
 
 

(nkhj;jk; 10 Gs;spfs;) 
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tpil 06 
 

 
 

epak cs;slf;ff;fpuatpay; Kiwikapd; mbg;gilapy;     

     cw;gj;jpg; 
nghUs; A 

cw;gj;jpg; 
nghUs; B 

  

cgNahfpf;fg;gl;l Copa Neuk;  
(epkplq;fs;) 

           3.00              2.00    

 kzpj;jpahynkhd;wpw;fhd 
cs;slf;f tPjk;  

       800.00        800.00    

mynfhd;wpw;fhd epiyahd 
Nke;jiyfs;  

         40.00          26.67    

 
epak ABC nfhs;ifapd; 
mbg;gilapy;  

    

 nkhj;jk; 
&gh'000 

cw;gj;jpg; 
nghUs; A 

cw;gj;jpg; 
nghUs; B 

fpua Xl;Ldupd; nkhj;j 
vz;zpf;if 

 

,ae;jpu guhkupg;Gf;fpuak; 2500       500.00      2,000.00     12,500 ,ae;jpu 
kzpj;jpahyq;fs; 

 

%yg;nghUs; 
fl;lisf;fpuak;  

500       250.00         250.00          100 fl;lisfs;  

Copaj;Jld; 
njhlu;Gila fpuak;  

600       333.33     266.67       4,500 Copa 
kzpj;jpahyq;fs 

 

nkhj;jk;    1,083.33      2,516.67    

ntspaPL myFfspy;        50,000      60,000    

mynfhd;wpw;fhd 
epiyahd Nke;jiy 

         21.67        41.94    

 
(b) ■ epiyahd cw;gj;jp Nke;jiyfs; FWq;fhyj;jpy; epiyahditahff; 

fUjg;gLfpd;wd.  vdpDk;> ,jdJ rpy %yf;$Wfs; ntspaPl;bYk; 
ghu;f;f NtWgl;l fpua Xl;Ldu;fspd; mbg;gilapy; NtWgLk;.   
      

■ ABC Kiwik xt;nthU cw;gj;jpg;nghUspdJk; epiyahd cw;gj;jp 
Nke;jiyfis xt;nthU nghUspdJk; fpua Xl;Ldupd; gad;ghl;il 
mbg;gilahff; nfhz;L xJf;FtJ Nghd;w nraw;ghLfis milahsk; 
fhz Kaw;rpf;fpwJ.         

        
■  vdNt> ABC Kiwik njhlu;r;rpahf rupahd cw;gj;jpg;nghUs; 

fpuakpliy my;yJ tpiyapliy Nkw;nfhs;s cjTtjdhy> ,J 
cw;gj;jp Nke;jiyfis cw;gj;jpf;F kpf ek;gj;jFe;j topapy; 
xJf;FfpwJ vdyhk;.          

          
■ NkNy (a) ,y; epiyahd Nke;jiyfis xJf;FjyhdJ ABC 

KiwikAld; xg;gpLkplj;J g+uzkhf NtWgl;lJ vd;gJ ep&gzkhfpwJ. 
         

(nkhj;jk; 10 Gs;spfs;) 

fw;wy; tpisT: 6.1.1. 
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tpil 07 
 

 
 
 

(a) 
tpw;gid 
vjpu;T$wy; 

      

 
fhyiz x =  4,200x   

Nghf;F 
(y) 

gUt 
Rl;n;lz; 

vjpu;T$wpa 
myFfs; 

ngWkjp            
(&gh'000) 

 
Y3 - Q1 9 

     
37,800  

  
10,000  

      
47,800  120         57,360  

      
286,800  

 
Y3 - Q2 10 

     
42,000  

  
10,000  

      
52,000  80         41,600  

      
208,000  

 
Y3 - Q3 11 

     
46,200  

  
10,000  

      
56,200  90         50,580  

      
252,900  

 
Y3 - Q4 12 

     
50,400  

  
10,000  

      
60,400  110         66,440  

      
332,200  

         Y4 - Q1 13    54,600   10,000      64,600  120       77,520       387,600  

 
 
 
 
 
 
 
 

(b) 

cau;thd Gs;sp (cau;thd fhyhz;L cw;gj;jp ) 

Q4-Y2 

    

  

cw;gj;jp = 50,000 myFfs; 
    

 

  

fpuak; gbKiwf;fpuakpy;yhJ = 67 - 7 kpy;ypad; = 

60 kpy;ypad; 
  

 

 

Fiwthd Gs;sp (Mff;Fiwthd fhyhz;L 
cw;gj;jp ) Q2-Y1 

   
 

  

cw;gj;jp = 15,000 myFfs; 
    

  

fpuak; = 25 
kpy;ypad; 

     

 
khWk; fpuak; =  

60,000,000 - 25,000,000 
= 

mynfhd;W &gh 
1,000   

 

50,000 - 15,000 

 
  

   
  

  

 

epiyahd fpuak; 
(gbKiwf;fpuakpy;yhj fpuak;) = 25,000,000 - (1,000 x 15,000) = 

&gh 10 
kpy;ypad; 

 
 

 

 

 
 
 
 

      

 fw;wy; tpisT 7.1.1.3/7.2.4/7.3.1 
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(c)  cw;gj;jpg;ghjPL 
(myFfspy;) 

     

Y3 - Q1 Y3 - Q2 Y3 - Q3 Y3 - Q4 Y4 - Q1 

 

vjpu;T$wpa 
tpw;gid 

 
 

   57,360         41,600     50,580     66,440    77,520  

 

fhyhz;L 
,Wjpapy; 
KbTg;nghUs; 

 

    10,400        12,645     16,610     19,380  

 

 

fhyhz;L Muk;gj;jpy; 
KbTg;nghUs; 

 

  (20,000)     (10,400) (12,645)  (16,610) 

 

 

cw;gj;jp 
  

   47,760        43,845    54,545     69,210  

 

 

 
epiyahd cw;gj;jp Nke;jiy 
(&gh '000) 

   

  

 

     

Y3 - Q1 Y3 - Q2 Y3 - Q3 Y3 - Q4 

 

 

khWk;fpuak;  @ 1000/-  

 

   47,760         43,845    54,545     69,210  

 

 

epiyahdfpuak; 
  

    10,000         10,000    10,000    10,000  

 

 

gbKiwf;fpuak; 
  

     7,000                 -        7,000       7,000  

 

     

   64,760         53,845    71,545     86,210  

 

        

  

 

 

 
%yg;nghUs; 
nfhs;tdTg;ghjPL   

    

  

 

     

Y3 - Q1 Y3 - Q2 Y3 - Q3 Y3 - Q4 

 

 

cw;gj;jp 
  

   47,760         43,845     54,545     69,210  

 

 

fhyhz;L 
,Wjpapy; 
%yg;nghUs; 

  

    17,538         21,818     27,684  

  

 

fhyhz;L Muk;gj;jpy; 
%yg;nghUs; 

 
  (40,000)     (17,538) (21,818)   

 

 

%yg;nghUs; 
nfhs;tdTfs; 

  

   25,298         48,125     60,411    

 

 

 

ngWkjp  @ 1,200 (&gh 

'000) 

 

    30,358         57,750    72,493  

   
(d) fhRg;ghjPL (&gh'000) 

      

       
Y3 - Q2 Y3 - Q3 

 

 
tpw;gid Nrfupg;G (W1) 

   
   239,520   234,940  

 

 

%yg;nghUSf;fhd Nrfupg;G 
(W2) 

   
  (44,054) (65,122) 

 

 

Copaj;jpw;fhd 
nfhLg;gdT 

    
 (35,076) (43,636) 

 

 

njhopw;rhiy Nke;jiyf;fhd 
nfhLg;gdTfs; (W3) 

  
 (55,245) (70,145) 

 

 

Vida 
Nke;jiyfs; 

    
 (20,000) (20,000) 

 

 
%yjd nrytpdk; 

    
  (10,000) (10,000) 

 

 
Njwpa fhNrhl;lk; 

    
     75,145     26,037  
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W1 
tpw;gid Nrfupg;G (&gh 
'000) 

  
Y3 - Q1 Y3 - Q2 Y3 - Q3 

 

 

tpw;gid 
tUkhdk; 

   
  286,800     208,000  252,900  

 

 
mNj fhyg;gFjpapy; Nrfupg;G (60%) 

  
    124,800  151,740  

 

 

njhlu;e;J tUk; fhyg;gFjpapy; Nrfupg;G  
(40%) 

 
    114,720   83,200  

 

       
    239,520  234,940  

 

          
W2 

%yg;nghUs;fspw;fhd 
nfhLg;gdTfs;  (&gh'000) 

  
Y3 - Q1 Y3 - Q2 Y3 - Q3 

 

 

%yg;nghUs; 
nfhs;tdTfs;  

   
    30,358         57,750    72,493  

 

 

mNj fhyg;gFjpapy; nfhLg;gdT 
(50%) 

  
      28,875    36,247  

 

 

njhlu;e;J tUk; fhyg;gFjpapy; 
nfhLg;gdT  (50%) 

 

 
      15,179    28,875  

 

       
       44,054    65,122  

 

          
W3 

njhopw;rhiy Nke;jiyfSf;fhd 
nfhLg;gdTfs;  ((&gh'000) 

  
Y3 - Q2 Y3 - Q3 

 

 

khWk; njhopw;rhiy 
Nke;jiy 

   
      43,845    54,545  

 

 

mNjfhyhz;by;  nrYj;jg;gl;l epiyahd 
njhopw;rhiy Nke;jiy 

 
        8,000   13,600  

 

 

njhlu;e;JtUk; fhyhz;by;  nrYj;jg;gl;l 
epiyahd njhopw;rhiy Nke;jiy 

 
        3,400      2,000  

 

       
      55,245    70,145  

  
 
 

(nkhj;jk; 20 Gs;spfs;) 
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Notice of Disclaimer 
 

The answers given are entirely by the Institute of Chartered Accountants of Sri Lanka (CA Sri 

Lanka) and you accept the answers on an "as is" basis.  

 

They are not intended as “Model answers’, but rather as suggested solutions. 

  

The answers have two fundamental purposes, namely: 

  

1. to provide a detailed example of a suggested solution to an examination question; and 

 

2. to assist students with their research into the subject and to further their understanding 

and appreciation of the subject. 

  

The Institute of Chartered Accountants of Sri Lanka (CA Sri Lanka) makes no warranties with 

respect to the suggested solutions and as such there should be no reason for you to bring any 

grievance against the Institute of Chartered Accountants of Sri Lanka (CA Sri Lanka).  However, 

if you do bring any action, claim, suit, threat or demand against the Institute of Chartered 

Accountants of Sri Lanka (CA Sri Lanka), and you do not substantially prevail, you shall pay the 

Institute of Chartered Accountants of Sri Lanka's (CA Sri Lanka’s) entire legal fees and costs 

attached to such action. In the same token, if the Institute of Chartered Accountants of Sri Lanka 

(CA Sri Lanka) is forced to take legal action to enforce this right or any of its rights described 

herein or under the laws of Sri Lanka, you will pay the Institute of Chartered Accountants of Sri 

Lanka (CA Sri Lanka) legal fees and costs. 
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